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§ 1. Introductory. The formula to be proved is
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-'i+i (1 -t)'<i+i-*vH-1E(p ; ocr:q; Ps:xt)dt

w h e r e / 9 8 + 1 - a s + 1 > 0 , ar -Pt+1 +1>0, r = l,2, ... ,p, and p^
The following formulae are required in the proof:

p
E ( p ; * r : q ; Ps: x) = 2 7 P ( a r ; p - 1 ; « s : q ; p t : x ) , (2)

r = l

where p^q +1 and
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r = l, 2, 3, ... ,p ; when p=q+ 1, \ x\<l :

sin (777) sin (p - a) n + sin (y -P)TT sin (OT) = sin (fm) sin (y - a) -n (4)
v

§ 2. Proof of the Formula. On applying (2) on the L.H.S. of (1), it becomes 27 Ir, where
l
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, , , , p
Now the E.H.S. of (1) is equal to

P, p i n (acp+1 TT) Sin (pg+1 - qr) n + sin(a3)+1-pg,H1)7r sin(ar7r) 1 j
r = 1 Lsin (/Je+1 TT) sin (aj,+1 - ar) IT sin (Pg+1 IT) sin (as+1 - ar) TTJ

Tsin (aP+1w) sin

v
Here the last term is zero, and the sum of the remaining terms, by (4), is 27 Ir. Thus the

r = l

formula has been proved.
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